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ARITUNINBNULAT LAl ULsaz Tase iUt uenuIuNade funs ol

31 4x fiu —9x @ née Q lLinde
32 8y fiu 10y Q pdne Q lLinde
336X Y Q ade Q lLinde
34 -12 fiu 35 Q ade Q lLinde
35 3%’ fu 2x2 Q adne Q lipde
3.6 5yz iU —2yz Q pdne Q lLinde
37 2x%y fu xy? Q adne Q linde
38 2y° fu 2y° Q adne Q liipdne
39 —7x'y  fiu —7xy* Q A Q liipdne
3.10 —4tx° fu 3tx° Q A Q liipdne
311 7x* fu —9x* Q adne Q liipdne
312 TXy ffu 15xy Q A Q liipdne
313 -9x%y  fiu —12yx? Q A Q liipdne
3.14 T7ab’c®  fiu 2ab%? Q adne Q liipde
315 7xyz fu —15xzy @ Jori Q liipdne
3.16 8ab’c fu 12abc? Q adne Q liipde
3.17 7.5x%yz iU 8.4x%yz Q adne Q lipde
318 6.3x%yz° fu 49xy?2® QO ade Q linde
3.19 gxgy“z2 fu %x“yzz8 Q adne Q liipdne

3.20 Ep3q2r4 fu —ipsqzr4 Q adne Q liipdne



